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1. A person divide
keptin bank for |

of 10% and the s
20% and overall he receives an interest of ¥ 32().
What was the first part of the sum (in ¥)?
(A) 600
(B) 1,400
(C) 800
(D) 1,200

d ¥ 2,000 in two parts and
year. First part yields an interest

9F e 2,000 TR ¥ @t ©ist @
1 T2 TN PRE A0 | AW @ e wigeed
JAFTH 10% '8 20% QT 3% e, (W @47 (31320
BI=sl I SI1T | 2 we % Bial o 2

(A) 600

(B) 1,400

(C) 800

(D) 1,200

2. Which of the following is not an ore of
Aluminium?

(A) Feldsper

(B) Dolomite

(C) Gibbsite

(D) Bauxite

S5 D SRR G S 2
(A) &9

(B) TrEIZD

(C) fArmiiZs

(D) 32D

“ ? l’?
3. What will come in place of the ‘7" mark?
epeirates (7°) 2 F P

" V<

(A) 5
(B) 6

AL 7
(D) 8

econd part yields an interest of

&4
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4. A watch gets slow by 6 mmu't:z; E;S been

hour. At morning 7 am. time of the . ing genuine

corrected with that of another watch _g‘vie:' Oﬁginal

time. When it will be 4 past 2() mm'lflulty watch?
time, what time will be shownin the fa

(A) 3 past 24 mins
(B) 3 past 16 mins
(C) 3 past 32 mins
(D) 3 past 28 mins

o -
ﬂﬁﬂf\?ﬁﬁﬂ‘ﬁﬁéﬁﬁfﬁ%ﬁ?@io'.

ﬂmwmﬁrﬁmmaﬁﬂ%@mﬂm;{%@;{

ﬁammmwﬁmmﬁzoﬁrﬁm :

Tfefore T© TR (I ?
- (A) 3 (24 fifm
(B) 3 16 0

(©) 3@ 3250

(D) 3 (5 28 faf=o

S. The country Madagascar is situated in which
continent?

(A) North America

(B) South America
(C) Africa
(D) Asia
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b.. Four positions of g cube are shown below.
ntify the number at the bottom when top is 6.

aﬁwmﬁwﬂﬁmmmml

ﬂm%mfﬂrm?@@mﬁrmmmﬁ@@?

DYHE

(A) 3 L H1
A
D) 2

7. Bailadila Iron ore mine is located in which
state?
(A) Karnataka
(B) Odisha
(C) Chhattisgarh
(D) Madhya Pradesh

(D) SgAT™

8. How many triangles are there in the
following figure?

Az bafbre souf fage wig:

A 16
¥B) 12
©) 9
(D) 8

(4)

N

9. Shivaji was compelled tosign whicp

with Mughals?
(A) Treaty of Pune
(B) Treaty of Allahabad
(C) Treaty of Gwalior
(D) Treaty of Purandar

R ST A PR A 7

qlqy 2= ¢
(A) e AfE
(B) =21 %
(C) commferacas it

(D) =T AlH

/
J

10. Brass is an alloy of which metals?

(A) Nickel & Zinc
(B) Copper & Nickel
(C©) Copper & Zinc
(D) Copper, Nickel & Zinc

Proet e 4w exg il s 4 ?
(A) a1 @ wegp
(B) wm @ fayrae

~C) oMt @ wegy
(D) o1, farzes '@ gy



11. Statements

(R3f)

. All pens are chairs.
All flowers are chairs.
All chairs are trucks.
All trees are trucks.

Conclusions.» 1. Some trucks are pens.

(Frar®) II. Some trucks are chairs.
III. Some trees are pens.

w1V, Some trees are chairs.

Which of the following conclusions are
correct based on the above statements?
(A) Only IIT and IV follow.
(B) Only II and IV follow.
(C) Only I and II follow.
(D) Only I and III follow.

THfaTe fagfen B e wm fosa @@=
Srargas #we
(A) wgE [11 938 IV 24|
B) el 11 922 TV 204 |
(C) oy 1 98 11 T4 |
(D) wyig [ 3% I 24|

12. Incompound interest a given sum in a year
becomes Z 5,500 and in 3 years 7 6,655. What was
the rate of interest?

| (A) 12
" B) 15
(€) 10
(D) 8

o g~ we 1 @
s,sooﬁ;‘zms,éssmﬂ,wmmw
wyteet f2el?

(A) 12
(B) 15
(©) 10
(D) 8

‘
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13. Which one is the highest peak of Aravalli

range?

(A) Dodabeta

(B) Gorgaburu

(C) Panchmari

(D) Gurusikhar

SRR Ao S % T ?

(A) (FmITEe]
(B) csMisfigee
(C) =tz
(D) @

14. The sum of marks obtained by Arun in
Englishand Mathematics is 170 and the difference

is 10. What s the ratio of marks obtained by Arun
in English and Mathematics?

(A) 9:8
B) 9:7
(C) 8:7
(D) 7:8

Wﬁi‘(@%ewﬁ
G TR AT 10| 2t
IO T ¢

JA) 9:8

(B) 9:7

© 8:7

(D) 7:8

® Ty 170
S Y= mw

[PleaSe Tllrn ()v
eri
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15. Mira

g€ is an example of v
following? Ple of w

hich of the

(A) Total interna] reflection
(B) Spectrum
(C) Refraction
(D) Reflection

T Mot @b Suizad e
(A) Sreredi 55 e
B) A

XC) afsszd
(D) afeTam

16. A man is facing towards West and turns
through 45° clockwise, again 180° clockwise and
then turns through 270° anticlockwise. In which
direction is he facing now?

(A) South 190 110(

B) South-West y P&
51

(C) North-West %

(D) West i

o & +if*5 firces 2 e vt i o=

SfeqR 45° T WRIT 180° R 932 A9
wies For Rere wfeged 270° gaee | o gam
(T A0 4 (T ST 2
(A) wfwe
(B) wiawe-=if¥sw
(C) Tez-#ifesy
(D) =%
17. Which of the following acid is regarded as
Aqua Fortis?
(A) Hydrochloric Acid
(B) Acetic Acid
(C) Nitric Acid
(D) Sulphuric Acid

(P S Te T Wyt w5 iy et <1

(A) g it
(B) =i wpifsie
(©) iEfw Wi

(D) A=irefas wnife

e

(6)

18. Find the missing number:

o~ e T
GRSz faefg 9 ¢

| 13L49 |

17 | 69 |

L13 11 [ 59 | .
(A) 10
(B) 21
(©) 9
(D) 5

19. Rillerosionisanexample of erosion causeq
by which natural agent?
(A) Wind
(B) Heat of the sun
(C) Glacier
(D) Waterflow

ey @ gipfes =few 7@ wwhe
HIIAA TIERe 7

(A) IR

(B) 7 Tarst

(C) favarz

(D) e

20. The capacity of pipe A is thrice that ofpipc"
B. The time taken by pipe A to fill in the tank is
16 minutes less than the time taken by B to do the
same. If both the pipes A and B work together, in
how many minutes the tank will be filled in’

(A) 8
(B) 10
©) 4
(D) 6

A 7 B AT 3 @ wopeE | @3
(BTAIOB! B +{CoTa AT 53¢l 20 o7 aiie, A 7T O
(AT 16 WG 5 373 =i1cst | e <@ 96 7@ A
e SIS Sl 2re v ffas s AT

(A) 8

(B) 10

(©) 4

(D) 6




21. Which Scientist
iaes cientistinvented the I s
disuse of organs? £law oftscand

(A) Mendel
(B) Weismann
(C) Darwin
(D) Lamarck

T IR € WA @Al (i
e gafés weam e

AA) FTTH
(B) SiZFIH
(C) ©ed
(D) =TI

22. A, B and C are three ferry ghats located on
the same bank of a river and B is located just at the
mid point of A and C. The current flows from C to
A. A boat takes 6 hrs and 20 mins to return to A,
starting from A and touching B. The same boat
takes 8 hrs to reach C from A. How much time it
would take to come to A from C?

(A) 4 hrs 20 mins
(B) 4 hrs 40 mins
(C) 4hrs

(D) 2 hrs 20 mins

A, BE3g
qi5 @3t B 96 A ¢ C-4¥ j
WCCWA-&QWMﬁmACWBﬂ@

ﬁ@WA@WWﬁﬂ@ZOWWC@l
mﬁAcmcmmswmwmmm@:
: A-@W@wﬁ?mmmrm
(A) 4 951 20 Ff0
| (B) 4 951 40 fafD
’ (C) 49!
1| (D) 29! 20 fafeo
{

i)
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23. Three of the following four are alike in @
certain way and so form a ggmuup Which is the On®
that does not belong to Ih;lll f,’i'“UP.-,

(A) 149
(B) 159
(C) 127
(D) 113

Mwa srafa foaf
93% e | o €3 @fiye T
JA) 149
(B) 159
(©) 127
(D) 113

- ada2
i @ AT AN

24. In human body which hormone is secreted

from « (alfa) cell of pancreas?
(A) Insulin
(B) Glucagon
(C) Progesterone
(D) Oestrogen

ST SR ST P (AT (R
AL 27 2 2

(A) TP

AB) I

(C) (ATETEHIA

(D) RS

25. Inaclock, whenitis 6, the bell tolls 6 times
and takes 10 seconds. In the same, how many
seconds will be required, if at 12, the bell tolls 12
times?

(A) 24
(B) 26
(Cy 22

2
D) 2

(=

<5 2fTrs 6 Bl W 6 B 9% sturs
10 GTEHS TR #0A | 6 WS 12 Bt renrgy =
1275 951 ST T OGNS Ty Aoy A

(A) 24

(B) 26

) 22

(D) 20

(Please Typy, Over)
r
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(A) 1576 OfHaldlghatmokp]acer,
(B) 1584 : 12;9. .Ilbert Bill was related with which of the
ollowing?
(©) 1566 (A) Judicial System
(D) 1564 (B) Legislature
T EGITE (C) Freedom of Press
0 : %W? (D) Education
((:) 11576 St fae cepler forca 0 AT fee
) 1584 W
(C) 1566 % :
O AC) FEAMACIS HlATo!
(D) fr=i

27. Find out the least perfect square which is
divisible by 21, 36 and 66.

(A) 156816
(B) 186624
(C) 254016
(D) 213444

e 7jofas] ARt el e, [ TN 21,
36¢ 66 74l [ToTe |

(A) 156816

(B) 186624

(C) 254016

(D) 213444

28. If the English alphabet series is written in
the reverse order, which will be the fifth letter to
the left of the ninth letter from the right?

(A) D
(B) W
(C) N
(D) P

3t 3ecafer afans Srbive e @ il =,
SR @I 390 O (A0 w9% qrfa e
Aee 3 A ?

(A) D

(B) W

JE N
(D) P

3(0. Instandard temperature and pressure which
of the following is not an amorphous?

(A) Chalk

(B) Coal tar

(C) Common Salt
(D) Wood

TR 5190\ SIS Ao (I SO

(A) 55
B) f5
(C) Taet &1l
(D) %3

31. In a School, average age of 10 students is
10-3 years. Out of them average age of 3 students
is 12 years and average age of 5 students is 9 years.
What s the average age of remaining 2 students (in
year)?

A) 11
(B) 13
(©) 10
(D) 8
g7 Rwe 10 & TEd T R
103 9% | O S 3 SR G T30 120 4R
5 SR AT T 9 T 2, AN O TG T T
BT R

(A) 11
(B) 13
(C) 10
(D) 8




32. isi i
As per provision of which writ a higher

court can ¢ : o
It can FOT’I\DE] a lower court or a person to
perform his duty?

(A) Certiorari

(B) Prohibition

(C) Mandamus

(D) Habeas Corpus

@R D S Seden @b (@i aiE
2 @I T Sia FEY AR g FACS AL

(A) e

B) =ffRH

(C) T

(D) aRam T

33. If84xl3=8,37x13=6,26X11=6,Ihen
56x22="
(A) 7
(B) 9
) 35
D) 3

i 84 13=8,37x13=6,26x 11 =6,
oA 56 x22="

(A) 7

(B) 9

© 5

(D) 3

(9)
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Kk is thﬂC
34. A’s capacity to u)mplet wor o
70 days P

&k
tll:w \Il\::;xBnli\l:)O:;j\z]f ‘lt;:.h: ::iomplclb the W work. 1
they work together?
(A) 8
(B) 8-‘-
2
© 75
2
(D) 7 il
A, B-433% e T ﬂd‘ﬁﬁ;%
20 fs = o T\ O Geaed
FA?
(A) 8
(B) 83
© 715
D) 7

35. Which portion of human brain maintains
the body balance?

(A) Cerebellum

(B) Medulla Oblongata
(C) Mid Brain

(D) Thalamus

TR TR G A (R St vt
A

(A) oTgies
(B) THAES
(C) wuyfes
(D) <iEts

[Please Turn Qve
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_ 36. On 1st January A and B s i
investing I 40:{)00 and ¥ 60,000 g;:c?iszlsff)ss
1st March, A invested T 20,000 more and on 1st
June B withdraws ¥ 10,000. If till 31st December
they yielded a profit of ¥ 33,250, what shall be the,
share of B (in%)?
(A) 17,250
(B) 16,000
(C) 16,250
(D) 17,000

1 SR A @3] B I 40,000 BT 8
w,omﬁmﬁﬁmawwﬁmwm|
16 ASIRe 20,000 it Rzt Fea 758 1 g
B 10,000 B 97 7% 1 31 ferTea of® 33,250 1!
=71 2, B T B A2

(A) 17,250
(B) 16,000
(C) 16,250
(D) 17,000

: al::d‘? th?}],liﬁ ;ifting anything with the help of the
) performs as which class of Lever?
(A) 3rd
(B) 4th
(C) 2nd
(D) 1st

QTS AR (I IE (ST 7
ifx oo et e a2 N

JA) TR
(B) vgd
(C) s

D) e

(10)

5% of the voters
he total votes cast,
1d. The candidates
lid votes, which is

38. In a constituency 2
restrained from voting. Out of t
29 votes were found to be invai
who has won, got 75% of the va
9261. How many voters wWere there?

(A) 18000
(B) 16800
(C) 16400
(D) 16000

a3fs Fdfon ceeEd 25% coforEa St
WWIWC@%WWW&T 2% (o6
Fifes =z | & CoId 75% o5 o R e
mw,f@ﬁwﬁgzslﬁc@ﬁcm 2, O (16
ol F9?

(A) 18000

(B) 16800

(C) 16400

(D) 16000

39. Who wrote ‘Ramacharit’?
(A) Banabhatta
(B) Bilhan
(C) Sandhyakar Nandi
(D) Tulsidas

AR’ 97 Tt = 2
(A) TSl

(B) TRerzw

(©) w3z =t

(D) wem



(11)

40. In a certain code SPORADIC is written as

QNORDIEB. How is wl
code? ow is TROUBLES written in that

(A) TNQSTFMC
(B) TEQSCMFT
(C) TNQSRDKA
(D) SQTNTEMC

A AR SR SPORADIC-(F @l
23 QNORDIJEB | €2 F#{e< ofaiy TROUBLES
IS @ A
(A) TNQSTEMC
(B) TEQSCMFT
(C) TNQSRDKA
(D) SQTNTEMC

41. Who established ‘Servants of India
Society™?
(A) Gopal Krishna Gokhale
(B) Raja Rammohan Roy
(C) Bal Gangadhar Tilak
(D) Dadabhai Naoroji

‘Servants of India Society’ ¥ Hfewrel &
e

(A) ColIoARTFRe CSITNE

(B) e AR A

(C) Ao foere

(D) wTeiE AetE

42. In which city of India for the first time Lok
Adalat was held?

(A) New Delhi

(B) Chennai

(C) Mumbai

(D) Kolkata
SACAEd AU @I SMES (IR X&

AARE 7

(A) fe fafa

(B) (512

(C) T2%

(D) F=T3el

R B/SI/KP/Prel/2023

43. A train was moving at a speed of 45 km/br-

It takes 18 seconds to cross a person coming from

opposite side at a speed of 5 km/hr. What is t e
iength of the train (in metre)?

(A) 130

(B) 250

(C) 220

(D) 200

s @ 45 Fy Bl CTeA P

fip el 5 Tt/ aenl (07 afeica m.ﬂ';ﬁ mnra?
Gl 18 GRS Sfoe P | o o7

(A) 180
(B) 250
(C) 220
(D) 200

44. A Money Bill, after being passed in
Lok Sabha is transmitted to Rajya Sabha. Within

how many days it will have to be returned to
Lok Sabha?

(A) 21
(B) 28
©) 14
(D) 7

EIITer i e 41 @3B wd&Ee

AeTTe (A 26T T M N SR EeTem
(TS AITS 27 ? | .

(A) 21
(B) 28
JC) 14
(D) 7

[Please Tyypy Ovey
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: 45. The com
18 known as
(A) Siddhanta
(B) Kaibalya
(C) Pancha Mahabrata.
(D) Chaturyam

TR BoATHCR et B A TS ?
(A) Prare
(B) &30
(C) =TS
(D) v

pilation of preachings of Mahavir

46. A business man earns a profit of 25% even
selling the cloth in cost price. Then calculate while
selling 1 metre of cloth, actually he gives how
many cm of cloth?

(A) 80
(B) 85
((8) 1 ]
(D) 70

GT PG IR T Y ISCR
W25%?{1€W1Wﬁlﬁﬁmﬁwzﬁ

Gl PG (2
(A) 80
(B) 85
() W~
(D) 70

(12)

47. The tourist spot Daringbari is situateq i
which State?
(A) Madhya Pradesh
(B) Andhra Pradesh
(C) Odisha
(D) Jharkhand
wifcaif Aoagalt im A 1fEe?
(A) TgT™
(B) rsac™
(C) efet
(D) wres

48. In1967 whoof the following was designated

as Deputy Prime Minister?

(A) Chowdhry Charan Singh
(B) Shri Jagjivan Ram
(C) Morarji Desai
(D) Sardar Ballav Bhai Patel
1967 WA fsfRTes g @W IfE
Bot-agal oS e
(A) Gl vaet B
(B) & HHEA IW
(C) cuarfe oei
(D) T3 IETSTR AN

R—
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49. Whatis the difference in interest yielded in

10% compound rate and simple rate on a sum of
T 1,000 for 3 years?

(A) 32
(B) 35
©) 31
(D) 30

100051212 10% 2ITa 3 urad b fia @ e
A AL TS B2
(A) 32
(B) 35
JO 31
(D) 30

50. Name the acid presentin the sting of an ant.
(A) Tartaric acid
(B) Hydrobromic acid
(C) Muriatic acid
(D) Formic acid

ﬁmmwﬁmmwﬁﬁ? ToifEe
AE?

(A) SRS PTG

(B) wife

() FefaEns pifTe

(D) TR

51. Emmanuel Macron is the head of which
nation?

(A) Germany
(B) Great Britain
(C) Italy
(D) France
BallegAe I (P TR ARGl 2
(A) wtaff
(B) (o6 fatba
AC) Zolfe
(D) =™

RB/SI/KP/Prel/2023

52. Thereis 20 litres milkin a container. 41itres
milk is withdrawn and substituted by 4 }nres o
water. The same process is repeated again. How
many litres of milk will be left?

(A) 138
(B) 124
(C) 128
(D) 132

=17 s (4CF

v (3 1 vy g
g #ficm 20 #oE Sl £€ﬂ1ﬁyﬂ3‘

AT g g FaAT @ g A TS
oS e @At A A A
fibra AA?

(A) 138

(B) 124

£C) 12:8

(D) 132

o i
53, Whichhormone is synthesmed intheripe

seed of a plant?
(A) Cytokinin
(B) Auxitocin
(© Gibberellin
(D) Auxin

i e 0w (R T s
247
(A) B
(B) SR
(C) feitafe
AD) ¥

54. The Headquarters of UNESCO1is located at
(A) Amsterdam
(B) Paris
(C) Geneva
(D) New York

TP T WS (PR S 2
JA) SREGEE

(B) “ifa
(©€) e
D) e &

[Please Tury Over)
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S5 ;
\‘CCOr‘ldga:u;fm saves X 1 on first day, T 2 on
What sh: l" on 3rd da}’,_?'&on 4th day and so on.
shall be his tota] savings in 12 days (in %)?
(A) 3095
(B) 4995
(C) 3995

(D) 4095

_ 9 A e 1 i, SR i 2 B,
ESRILCPATE R CR AT o R E P o T —
T IR 12 W 7 G T DIl e 409 24 2

AA) 3095

(B) 4995

(C) 3995

(D) 4095

56. Which traveller came to India during the
reign of Chandragupta-I1?

(A) Al Beruni
(B) Ibn Battuta
(C) Hiuen Tsang
(D) FaHiyen
A ?
(A) T& (IFH
(B) T gl
_C) 2T AR
(D) = feEw

57. To leave the same remainder, 123, 178 and
244 shall be divided by which greatest number?

(A) 13
(B) 15
(C) 11
D) 9
i FZew et wEl 123, 178 @3 244-(F
w5 T, AferFra @2 Sord AFET
(A) 13
(B) 15
JOY11
(D) 9

(14)

58. Whorepresented Indian National ('
in Second Round Table Conference?

(A) Bal Gangadhar Tilak
(B) Motilal Nehru

(C) Mahatma Gandhi
(D) Jawaharlal Nehru

Mereg

ST (SeTUB 1< (A9 SITe R e T e
(A) A fomr

(B) Gaifeetla (122

(C) szt it

(D) Grezgele (12

59. Which type of soil is ideal for coffee
plantation?

(A) Red Soil

(B) Alluvial Soil

(C) Laterite Soil

(D) Black Soil

aﬁmawﬁﬁmmgﬁmﬁwﬁ@?

(A) e e

@)~ e

(C) FBARS e

(D) Y&
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60. A and B were moving in cycles in same
direction at a speed of 8 metres/sec and
5 metres/sec respectively. Ata given time B was
180 metres ahead of A. In next 70 seconds what
shall be the distance between them (in metre)?

(A) 50
(B) 60
(C) 40
(D) 30

s sﬁmro‘r@%@maﬁs&qm sifeRiet | (Gl
@ B, A~43 (I 180 fF6TH fora o | AR
10 GRS OIHE W 9 T o =2
(A) 50
} (B) 60
V (C) 40
(D) 30
61. Locomotion of Eugleena is done by
(A) Cilia
®) Pseudopodia
(C) Flagellar

(D) A=

e —

6?. How many members are there in United
Nations’ Security Council?

(A) 10
(B) 15
(€) 7
D) 5

aigejue el A s
e o TEEH T

(A) 10
(B) 15
© 7
D) 5

RB/SI/KP/Pret/ZOZ }

63. ‘P x Q° means ‘P’ is brother of ‘Q.
‘P — Q' means ‘P’ 18 sister of ‘Q"
‘P + Q" means ‘p’ is father of ‘Q-
‘P = Q" means ‘P’ is mother of ‘Q’.
Which of the following represents F is
daughter of W?
(A) WxRxF
B) W+R-F+T
4C) W+RxF-T

\9)) W+ RxF

‘PxQ’W‘P’ﬁ‘Q’—ﬂ@?‘U

‘P—Q’W‘P‘W‘Q"Lﬂ'ﬂ'@m

‘P+Q’W‘P’ﬁ‘Q"*ﬂ"jm‘

‘P+Q’W‘P’W‘Q"‘ﬂ?‘m‘

WWF’@W*Q?IWWW
T2

(A) WxRXF

(B) wW+R-F+T

€) W+RxF-T

(D) W+RxF

..



RB/SI/KP/Prel/2023

64. Simplify :

1 5 ) 4
12—+10=-7=-1=
3 6 3 ]7

13
A) 11—
(A) 14

(B) 14u
13

11
C) 13—
©) 14

13
D) 13—
D) 14

FeEed Wi Ay e

1 .5 2 .4
2l 1027242
BT gl

13
11—
A) 14

11
®) 1473

11
ey 5

13
(D) 135

65. How many such pairs of letters are there in
the word GLIMPSE each of which has as many
letters between them in the word as in the English
alphabet?

(A) 3
(B) 4
© 2
(D) 1

GLIMPSE *#f5 ity Foef @ certel 3
Wi, * {54 W4y SIra W To el 3o oy, 2T
e O wig?

(A) 3

(B) 4

AC) 2

(D) 1

(16)

66. In the North-Eastern states of India which
type of natural vegetation are mostly observed?
(A) Tropical Desert forests
(B) Coastal forests
(C) Tropical Deciduous
(D) Tropical Evergreen

SIAeAE Teq-7{ida AES IS (7 4107

Freifds Bfgr A4 (TATe ANSH IM?
(A) TG W= Sfgn
(B) Soigara Tfgn

(C) @18 “Adfcid! Sfegn
(D) wIe Bazfae Sfen

67. Which of the following is nota Cricket field
of South Africa?

(A) Johanesburg

(B) Wellington

(C) Centurian

(D) Durban

oA TG vl Sifreia 9= s e
S w2

(A) E@REPRI

(B) ST

(C) IgfzaM

(D) wig<l«

68. If LACK is written as 396, then BACK is
written as—

(A) 66
(B) 56
(C)i2
(D) 86

1% LACK-G 396 (741 T8, ©(d BACK-(F
@ FR—

(A) 66

(B) 56

(C) 72

(D) 86



——"'
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69. If *x’ stands for ‘+’, ‘<’ stands for ‘=, ‘+
stands for ‘<7, “>” stands for ‘x’, ‘-’ stands for ‘=’,
«-> stands for ‘>’ and ‘=’ stands for ‘<’, state
which of the following is true.

(A) 3x4>2-9+3<3
B) S5x3<3+8+4x4
(C) 5>8+4=10<4x38
D) 3Ix2<4+16>2+4

T X T 47, < WE =, T S
A X, = T ‘=, WM S @R = WA <
=, O3 B @D 7 ?

(A) 3x4>2-9+3<3

(B) 5x3<3+8+4x4

(C) 5>8+4=10<4x8

D) 3x2<4+16>2+4

70. Out of Sixteen Mahajanapadas, which one
of the following was located in southern India?
(A) Malaba

(B) Asmaka
(C) Anga
(D) Koshala

CAIG* SRIGATra ey ol
NGOG AN Fi 7

(A) Mg
(B) o
(C) o=

D) =t

OIS wfye

$

I- \
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71. Sardar Sarovar Multi-purpose Project 15
located on which river?

(A) Narmada
(B) Godavari
(C) Beas
(D) Ganga

ﬂﬁamﬂwmﬁmﬂfmﬂﬁa@ﬁ

(D) sl

is gi i rms
72. A number series is gIVeD with two ::{ion
missing. What will come in place of the ques
)
marks (?) to complete the series’

9.9
(A) 32,33
(B) 34,36
(C) 32,38
(D) 32,34
% TR gre SR ACS 46 AW (R |
SN DTS B I A sifeiel =
4,6, 8,12, 14, 18, 20, 24, 30, 27, ?
(A) 32,33
«B) 34,36
()= 32,38
(D) 32,34
73. How many sex chromosomes are there in
every human cell?
(A) 46
“1B) 23 pair
©) 4
(D) 2

EEINID
o T CIREPICT 0% oTat ceriratieny

(A) 46T

(B) 23 (g
©) 4%

D) 2%

[Please T

Biwes 4
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14, The per;

. e

?llcmanditspai:met?er St ST LR
of length - a1s 24 sqcm. Whatis the difference

and breath of the field (in cm)?
(A) 3
(B) 4
) 2
(D) 1

anéﬁ;wmﬁ%ﬁmzomﬁ
R 24 9 fi
N To @A 2 e L s
(A) 3
(B) 4
AC) 2
(D) 1

75. Which of the following scientists explained
the structure of atom with the help of Quantum
Theory?

(A) Niels Bohr

(B) Oppenheimer
(C) Rutherford
(D) Albert Einstein

A3 i e @R ergd AR
AT 10w PIAT A ?

(A) e

(B) Sreiwzigsla

AC) AMRATFS

(D) eIt W5

(18)

/76. Which letter in the word CYBERNET(
occupies the same position as itdoes in the Enghsh}
alphabet? "

(A) I

(B) T

(C) E

15§ &

CYBERNETICS *%f0d St4j<ia (5l 347
afer IS O @ =g, e wape a3
SZ

V(A) 1

B) T

©) E

(D) C

~77. 9,195 s distributed among A, B and C in
such a way that if ¥ 45, 60 and ¥ 90 respectively
are deducted from the sum they received, the ratio
of money received by A, Band Cbecomes2 : 3 : 4.

What is the amount received by B? (in )

(A) 4,090
(B) 3,600
(C) 3,060
(D) 2,045

9,195 51! A, B @ C-43 W0 A3 Sl
Wﬁ%WNWC@ﬂW%W,
60 BIt 8 90 Bt e feed, A Delst e
2:3: 478 BT O (R

(A) 4,090

(B) 3,600

L(€) 3,060
(D) 2,045

|
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78. Which enzyme converts protein into
peptone?

(A) Trypsin
(B) Erypsin
(C) Renin

(D) Pepsin

@R TLEHS (AN (DI sifders a0 2
(A) Tsfa

(B) 2fasiF=

(©) @fR=

(D) iR

79. Who founded Satyasodhak Samaj?
(A) Dadabhai Naoroji
(B) Lala Hardayal
(C) Jyotiba Phule
(D) Gopal Krishna Gokhale

RIS TG (& oDt FATRE 2
(A) TSR AECAE!

(B) =T TR

(©) cenfeat T

(D) (AR (N

—4£0. In a certain code BOARD is written as
53169 and NEAR is written as 2416. How is
NODE written in that code?

(A) 2934
(B) 2694
(C) 2894
(D) 2394

CITA ACHES SR BOARD-(F 774 2
53169 @& NEAR-(F (7141 28 2416 | 6% mg@s{%{ﬁ

S NODE-@ F @14 2a 7
(A) 2934
(B) 2694
(C) 2894
D) 2394
\J -
By HIMADRI
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81. In which of the following coastal &

winter rainfall is observed?
(A) Gujarat Coast
(B) Coromondol Coast
(C) Malabar Coast
(D) Konkon Coast
o7 (e Tolgerell] gt et ¢
#fraw i ?
(A) et SAF
(B) P18 BT
(C) W& TAFH
(D) (IF AT

; in
82, What should come next 10 the followl g

sequence of letters?
BBCBCDBCDEBCD

EFBCDEFGBCD EF
A) H
(B) D
£0) G
(D) B

ﬁmvﬁﬁmwﬂa@M$ﬁwmm?
BBCBCDBCDEBCD
EFBCDEFGBCDEF

(A) H

(B) D

© G

(D) B

83. Hertz is an unit of
(A) Density
(B) Wavelength
(C) Frequency
(D) Energy

Q<& (Hertz) S5/ G 9
(A) w9g'7

(B) &% (v

AC) T’y

(D) s

[Please Tury Over)
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Which of the
the given fig

| 84, If a mirror

ure?

rel/2023

18 placed on th
answer figures is

e line MN, then

the right im age of

W G woferas MN @1 5aa i =,

O3 Wewa @
Given figure:
awa foq ¢
M
N
(A) \\\
|y,

©

%

(D)

Y

foaft era fafBa w1y efofim 274

(20)

85. Nephridiam is the excretory organ of
(A) Earthworm
(B) Planaria
(C) Cockroach
(D) Rat
s @i 2@ @5 s e
(A) st
(B) zitafaa
KC) SIestat

(D) %=

86. Which of the following figures will replace
the *?” mark to continue the pattern?

BT @ Bl emies (‘2°) I T
fﬁ“@@%ﬁﬂﬂp‘ﬁ(paﬂem)m AP ?

' i+ e - |
LIRS 2

1}

N 4 5 6

(98]

(A)

(B)

~(C)

i
o=yl =51

(D)

H




' (21)
7. Attil . .
8 tla was the leader of which COMmupiyo RB/SI/KP/Prel/2023
(A) Pahlab 1ty? %. I,
(B) Greek umvcrl(3(|r(-:speu of which of the following, when
(©) = (- not ',ncr(;a;:;” solid from liquid, its volume does
(D) Saka (A) ’\Hl'lrntmy
| 1 B) Aluminium
.‘ «@ftett (Attila) (P SRR (Tt e O B
; (A) g (|)] Ice
| AB) A= Nesa
! AN e e chig e waE s
| © S R Al SIS (AGG AR T
| (D) *I=® (A) wifGan
li (B) Siepfifimy
‘. _ AC) Ty
'\ g8, Two numbers are in the ratio 3 : 5. 1f 10 is (D) w7
| added with both the numbers, the ratio becomes
5.7. What is the sum of two numbers?
(A) 35
! (B) 40
} (©) 16
} D) 8

&ﬁﬂzquvn@:s:smﬁ%ﬁ?mtmomq
17, T R A TAS R 5 : 7 1R oA

e FE?
(A) 35
'1 JB) 40 -,
©) 16
D) 8

89, Whichof the following will come in the last
" telephone directory?

(A) Mohinder
®) Mahindra
(C) Mohindar
(D) Mahendra

Bl
%Wim O wRETbRite

(B) Mahingy,
(€) M(’hind;
D) Mahendra

By HIMADRI

91. In which place Annie Besant established
Home Rule League?

(A) Calcutta

(B) Pune

(C) Bombay

(D) Madras

e s o T @ o
IAA?

(A) T

(B)

U€) @ER

(D) e

[Please Turn Over|
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92, There are 5 books. A, B, C, D and E placed
on atgble. If Aisplaced below E, Cis placed above
D,Bis placed below A and D is placed above E,
then which of the following books touches the
surface of the table?

(A) A

(B) E

(C) B

(D) C

A, B, C, D¢ E #ibf R «3f6 (Bt Hreteett
Wiz 14 A, E~a3 T, C, D43 84T, B, A-47 T
&«D,E—aﬂa@?@ﬁfﬁ,wm@%cﬁﬁﬂm{*f
A IR ? :

(A) A

(B) E

~AC) B
(D) C

93. A person sells a product after giving 15%
discount on marked price and earns a profit of
19%. If he would not have given any discount,
what would be his percentage of profit?

(A) 36

(B) 40

(C) 42

(D) 34

< e LT sy 15% =S e I
¥y ke A 19% 1% 0 | 2 ol v Al e,
Ol @ AGIeH FIC TO?

(A) 36

(B) 40

(C) 42

JD) 34

20

94. Which of the following smells like rotten
fish?
(A) Ozone
(B) Chlorine
(C) Phosphine
(D) Acetylene Gas

Tea e o 75l TZd T 7
(A) €T

(B) cifa

AC) T

D) SR i

05. Mis the son of P. Qis the grand-daughter of
O who is the husband of P. How is M related to O?

(A) Mother

A(B) Father
(C) Daughter
(D) Son

M, P-63 9@ | Q, 043 e @ =l P
F1T | O-47 FX M3 79F 2

(A) W

(B) I

(C) =l

(D) 7@



9{5. A person opened term deposit in the
of his tWO daughters at 15% rate of interest j Name
a way that when they will attain 18 yc'u:l In such
they will getT 38,000 each. Since his eldcir(li,:’i age,
was 12, he kept T 4,800 more for her lfﬁllgllll?r
ounger daughter. What was the amount h'c”kclf5
for his younger daughter (in %)? pt
(A) 18,200
(B) 15.200
(C) 35,200

(D) 20.000

o & O G2 (NS A GICP 15% A

S RIS GO TR (T AT T
18#@@38»000WW"”@|WWW
17 < 26 fofl O ST @B (@A (U
4,8MW@ﬁWlmmwﬁﬁw
s (AU ¢

(A) 18,200

(B) 15,200

(C) 35,200

(D) 20,000

91. Find the odd one out:
(A) Green-Red
(B) Blue-Green
(C) Blue-Red

©) Orange'Gl'een

WW%W ]
(&) e :
®) S

£ (0 ﬁ’fq:g

0 mw

21
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98. Inwhich year Cripps Mission cameto India?
(A) 194]
(H} |t)42
(C) 1940
(D) 1939
T‘_:.‘P;vlﬂ faietet @ Fjra Slagard Az ?
(A) 194 N
(B) 1942
(C) 1940
(D) 1939

29. Th
. W;ee of the following four are alike in 2
that do y and so form a group. Whichis the one
es not belong to that group”?

(A) Iron
(B) Chlorine
(C) Zinc
(D) Mica

Aeva srfoe ol e T AT 4K
G3fo TS | (A 6% @iige T ?

(A) @™

(B) Il

(C) =

AD) =

100. Kanha National Park is located in which
State?

(A) Karnataka

(B) Rajasthan

(©) Chhattisgarh

(D) Madhya Pradesh

il AT SARE (P SCIECK

(A) 30F

(B) ArerZe

(C) 2fe Y

D) Ny




